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1.

A circular coil is entering a magnetic field
as shown. What is the direction of induced
current ?

XXX X XXX
XvX X X X
XX X XX

XX XX XXX

(A) Clockwise
(B) Anti Clockwise
(C) No induced current

(D) Both clockwise and anti clockwise

A 500 W bulb and a 500 W heater operate
at their rated voltages. Which of the
follcwing is true ?

(A) Filament of bulb reaches a much
higher temperature than heater

(B) Filament of heater reaches a much
higher temperature than bulb

(C) Both filament attain same
temperature

(D) Nothing can be predicted.
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A

: 4V 6V )
10 l B |- 120
—AWWWW .
4 {1 :
In the circuit shown, potential difference

between A and B is :
(A)  +4 volt (B) —4volt

(C) —4.4 volt (D)  +4.4 volt

Formation of virtual image is possible in :
(A) Plane mirror

(B) Concave mirror

(C) Convex lens |

(D)  All the above

L O Conducting
ring

il

The direction of current in the conducting
ring after the switch is closed for a long
time :

(A) Clockwise
(B) Anti Clockwise
(C) No Current

(D) Can't be predicted

A

: a4V 6V _
40 t B -120
AWM :
40 ;
QUERID TRCe Fe66 A 9° B FRIER §GY6
F09IB% HELE a4l

(A) +4volt (B) —4wvolt
(C) —44volt (D) +4.4 volt
PRI YR 6RE 6TRER IR ?

(A)  FeR @del

(B) 26N Qdel

(C) 6aR ol

(D) etadad

01000050 OCmgigms

AUFRIB TR0 YRS SEF IR 9 621 TR
6616 YERIRIRI PREEE BQYE 6960 T4 Hda
@0

(A) QENEIe6

(B) QIAIREN

(C) BQYe cReer 629 AR
(D) @& @ aE e &
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6.  The velocity ~ time graph of a parti;:le

moving along a straight line is shown.
What is the displacement of the particle in
6 second ?

L 4

= ]

(B) 14m
(D) 20 m

7. Inthe given circuit, what is the equivalent
resistance between A and B 7

20 20 20

A
100 100 130
B A
30 20
(A) 100 B) 20
© 50 (D) 30

8. The electrical properties of copper and
~ rubber are different because :

(A)

(B)

(€

(D)

The positive charges are free to move
-In copper but stationary in rubber.
Many electrons are free to move in
copper but all electrons are bound
to molecules in rubber.

Positive charges are free to move in
rubber but stationary in copper.
Many electrons are free to move in
rubber but stationary in copper.
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(A) 10m {(B) 14m
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Fer)le Qe TE6Q A 99° B FIRIER §QYe
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20 20 20
A
100 100 =130
B——A\WW:
30 20
(A) 10 0 B) 20
© 50 (D) 30
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10.

Which of the fo!.[owi.ng are true ?

(i) A moving charge produces magnetic
- field but no electric field.

(i) A moving charge experiences force
in magnetic field but not in electric
field.- - '

(iii) Magnetic field inside solenoid is
uniform. '

{iv) Magnetic field lines are always
closed. '

(A) (i) and (iv) (B) (iii) and (iv)

(C) (i) and (iii) (D) (i) and (iv)

A ballon starts rising upwards with

constant accleration "a” and after "ty

seconds, a packet is dropped from it which
reaches the ground in "t’ seconds. The value
of 't is:

M1y 148

() Skt
atp g
— (142

® S y*a

e |

i atp| g2
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(i) 9@ ISR O QAR CREER OF BRR
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(i) FERAGE FRIER IR JAER TRGI 688
IFIDRIFISIEE EREE | :

QAGIK 686 69619 64161 BI0A FaI
6618 Q& |

(iv)

(A) ()4 (iv) (B)  (iif) 4" (iv)

(©) (i) 9e (i) (D) (i) 9 (iv)
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11.

12,

13,

Three balls are projected with same speed.
Ball A is thrown vertica]l}' downward, ball
B is thrown vertically upward and ball C
is thrown horizontal, t,, tg, t, are
respective time taken by Balls A, Band C

-to reach ground, Find. the correct answer

from the following choices.

B
C
A
(A) te=ty+ty (B) tc=ytats
(C) te=ty—tg (D) te=t, -2y

‘An air bubble inside water will behave
as

(A) Concave lens (B) Convex lens

(C) Plane mirror (D) Glass siab

KKK KA H KK AR KA AHK

1
» )(.X MK M KK X ¥ X
I
, X 4 X % X XX X ¥ X

—r el =l
b B Ob A i O D ) 4 I P 9 P PP

(1) (1) (1if)

Each structure carries same current i, in a
transverse magnetic field. which is true ?

(A) (i) and (ii) experience same force
(B) (iii) experiences largest force

(©
(D)

(i) experiences minimum force

all struchure experience same force
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B
C
A
(A} te=ty+ty (B) tc=ytats
(C) te=ty—tp D) te=t,—2y

aél le6Q 21 Q1Y 6TIFRIG RE GaR 621
e 2

(A) 2RO 6AR (B) G@R 6AQ

AeR @8] (D) &l ge
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0 @

gF1Ed AR 98 QASIE 6806 IFIR B4R,
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(A) (i) and (ii) IR OF RS QAR
(B) (iii) YTRIR PR BRGE A0R

(€)
(D)

(i) 990F] OF AQUE AT
QAL aeR AFIR OF BNES GR9
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14,

15.

16.

17.

What is the molarity of the solution
prepared by dissolving 4 gm of NaOH in

“water to form 250 ml solution ?

- (A) 1.0 m

(B) 02m

(C) 04m

(D) 004m |

Which of the following is main ingredient
of Biogas and CNG ? :

(A) Ethyne (B) Propane

(C) Methane (D) Butane

The by product of soap industry is : |

(A) Gl}'ml (B) Glucose

(C) Glycerol (D) Ethanol

Which of the following element react with
oxygen to form a compound with high
melting point, which is soluble in water ?

( A}. Calcium (B) Carbon

(C) Silicon (D) Iron :
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() dReq

(©) .ﬁseqraa |

4 §IF| NaOH @768 Q8196 6812 250 ml €981
Q8 627 | OB QO6IA TIF| TERE! 666 626 ?
(A) 1.0m

(B) 02m

(€) 04m’

(D) 0.04m

PR 6ade 635N B CNG Q FpN QIR
766 ?

(A) @& (B) ocg6eUq

(D) Qe

AR, FTEE QOFIE 6268l 0eId 6268 ?

eI
(D) Q2URR

(A)  Claam ~ (B)
(C) TpTam

Afhe 6a6 6FIRG BAIP 98 geaA @f
691" G Serie 389 cdida 98 @sal <@l
PREQ QasTa |

(A) @4Rdasn (B) QISQ
(D) 2IK9R
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18. A free electron at rest which is far away
from the nucleus has energy value :

(4)
(B) Infinite
©)
(D)

Zero

-1312 k] mol -1

—-54.380 eV.

19. The isotope of which element is used for
treatment of cancer diseases :

(A)
(C) lodine

Uranium (B) Cobalt

(D) Chlorine

20. The electronic configuration of an atom is
2, 8 which of the following element has
similar chemical properties with it ?

*) N ®)
©) P (15) (D) Ar (18)

F©)

21. ~ The alloy containing a non-metal is :
-
(A)

(C) Steel

Brass (B) Bronze

(D) White metal

22. Reaction of water with aluminium carbide

gives a colourless gas. The gas is :
(A) Acetylene (B) Propene

(C) Propane (D) Methane
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AIREAROIE 996 G54 201 0 QERRTH 618
REFID ARG 6R6E 266

(A) oM

(B) SRIGEAR
(C)
(D)

—~1312 kJ mol !

—54.380 eV.

RUALA EATR FAQ CIet A58 606 CanIgR

WIYRS QieLia @ ?
(A) %R (B) cAOR
(C) oeaeR (D) 6]GR |

6615°9 TRFIEIR AERRER TSR 6068 2, 81

4@l F6FIe 6ad 6FIRGR AKfa a8 9
AR QFQ ?

(A) N@) - (B F(©)

(C) P (15) {‘D} Ar (18)
661G 2RIE. 21 AIGRIE SRR

(A) Qee (B) @

(C) e<e (D) QAU
BIRFRA AIFRE, AR AT 980l @6 fsrlo
6@6 oMY 98 @6 ?

(a) @ERR (B) 6IW

(C) 6I6TR, (D) ¢iea]



23,

24,

25.

26,

27.

Composition of Synthetic gas is

(A) CO+H, (B) C+N,

(C) CO+CH, (D) CO+N,

Which one of the fullowihg is functional
group of propanone ?

(A) Carboxylic acid (B) Aldehyde
(C) Ketone -(D]. Alcohol

Which of the following reactions is
displacement reaction ?

(A) CH,+20, - CO,+2H,0

(B) Cr,0,+2Al = ALO,+2Cr
(C) 2H,0, » 2H,0+0,

(D) P,+NaOH — PH;+ NaHPO,
Which of the following is an acid ?

(A) NaOH (B) NH,NO,

(€) Mg (OH), (D) B(OH),

Under which group are diatoms
included ?
(A) Monera (B) Protista

(C) Plantae (D) Animalia

D-10

23.

24,

25.

26,

27.

(C) CO+CH,

<6686 SN °aeR _ 266

(A) CO+H, (B) C+N,

(D) CO+N,

6OIEIERIRGR &1 205 GO 681 ?

(A) QIEIRAAR 96, (B)
(C) @6eR

URGLIRE,
(D) TRGEH

PORYE 606 98 AgaR 9OaaI B6E' P

(A) CH,+20, » CO,+2H,0
(B) Cr,0;+2Al = A12d3+2(:: ;
(C) 2H,0, = 2H,0+0,

(D) Py+NaOH — PH,+NaHPO,

FrMYE RIS 6REIT 98 BF] 2662
(A) NaOH (B) NH, NO,
(€) Mg (OH), (D) B (OH),
PIRLICF 6RE 6AIT6A BRG] ?
(A) 6FI6RS (B) sa@ﬂf
(C) e (D) ERFIREl
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28.

29,

30.

31.

| (C) | Johnson (D)

Orange colour pigments which participate
in photosynthesis indirectly are called :

(A) Carotene
(B) Chlorophyll a
(C) Chlorophyll b

(D) . Phycocyanin

.B}f' whom was dark reaction of

photosynthesis discovered ?
(A) Calvin (B) Hill

Mitcheldl

Effect of duration of light period on
flowering is called :

(A} Fhototropism

(B) Photolysis
{C) Photosynthesis

(D) Photoperiodism

Who started Appiko movement in 1983 ?
(A) Sundarlal Bahuguna .

(B) Amrita Devi

(C) Medha Patkar

(D) Pandurang Hegde

. STS-1I-2018-19
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UERIS QISR TIGRIG FEEBS @AUEE ARIH
260 @FR! Qe edad § 6e6R

(A) @EUTE
(B) 6aSAUTRA
(C) 6RYEAUTA &

(D) CHRER ARA

ZERIR GETSI0 ZARIG Y AR5 TGS
eealml ?

(A) @RS, (B) @@
(C) @adn, (D) Fiesim,

GO0 IR P9 QT6R ASRIRIGNS SR
291 G4, G121 6268

(A) BISRIRIRLSE
(B) ZIERIFFIOI &% SRIRE
(C) SRR 656!

(D) 2l6RIa aIRel

1983 66 @4 PITER! PlERING 2I0R @5if6R ?

(A) JRORIR 0LGE!

(B) EEEI6aar
(C) 6Flall Yowe
(D) <IgRGrSLSI6Q
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32.  Which hormone is present in the urine of
pregnant women ?
(A} ADH
(B) CGH
(C) FSH
(D) ICSH

33. Organisms which use energy from
inorganic source to prepare food are
called :
(A) Autotrophs
(B) Synhophﬁ
({C) Chemotrophs
(D) Heterotrophs

34, Which of the following statements is
correct ?
(A) Cockroaches respire by gills.
(B) Ian Wilmut was awarded Nobel

prize in 2010 for IVF.
(C) Hepatitis-B is infected by water.
(D}  White leghorn lays highest number
of eggs per year.

35. Which of the following cell organelles is
non-membranous 7
(A) Mitochondria (B) Ribosomes
(C) Golgi (D) Lysosomes

D-12

32.

33.

34,

35.

(D)

FHIRET AISIR FEER 6a6 LAGFIR AReI ?

(A) ADH (4&4)
(B) CGH (di#4e)
(C) FSH (49q9%)

ICSH (Blia & 4< 96D

PEETR 001de 08 6Pa el g9ge 2929
@RFIEE 62GEE -

(A) W
(B) Aaeme
(C) S@ETisN
(D) QR

PEFm 6@l aDF OR,?

(A) S6eE TR QIR JUg TaeR Qs

(B) B2IR AARAS 2010 68 IVF TI6 6RI6eR
QORI SIeBER |

(C) 6rueq-B @mqm rafie 24|

(D) 690 6RcRd QQ@ eHiase 9e0Ie) 2l

29l 6w |

F6¢i@ 666 6018 2dal BRI 266 ?

(B) | QERIFFI
(D) REURFE

(A) FIRESIRS

(C) 6oind
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36.

37.

38.

39.

40.

Which of the
semi- autonomous organelle with genetic
material of its own ?

following is a

(A) Nucleus (B) Vacuole

(C) Golgi (D) Chloroplast

How many ova are produced from
50 primary oocyte ?

(A) 50 (B)
(C) 200 (D) 300

100

Jelly fish is included in which phylum ?
(A) Cnidaria

(B) Mollusca

(C) Echinodermata

(D) Chordata

Which acid is present in tamarind pulp ?
(A) Oxalic Acid (B) Acetic Acid

(C) Tartaric Acid (D) Tannic Acid

What is the Chemical nature of Chitin ?
(A) Protein

(B) | Lipid

(C) Glycoprotein

(D) Carbohydrate

' 5TS-11-2018-19
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38.

39.

40.
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QEIRie &g ?

(A) o8 (B) oAl

(C) <R (D) 256 ARE

509 QieRa GelE) 60186 666617 B 98
se1Red?

(A) 50 (B) 100
(C) 200 (D) 300
66 FIE 6a6 U960 ZBES 7

(AJ)' peigel

(B) @6AIQ

(C) @9ag

(D) 6FGEYI
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41.

42,

43,

44,

An aeroplane would take one hour less for
ajourney of 1200 km if it increases its usual
speed by 100 km/hr. What is its usual
speed ?

(A), 100 km/hr.  (B) 200 km/hr.

(C) 300 km/hr. (D) 400 km/hr.

If cosech —sinf =1, secl —cos =m, then
what,is the value of Pm? (I +m?+3) ?

(Aa) 1 B) -1

(€ o (D) 2

How many 3-digit numbers are divisible
by 7?

(A) 124 (B) 128

(C) 120 (D) 126

A and B started a business with initial
investments in the ratio 14 : 15, The
investment of A continued for the whole
year where as after some time B withdrew
one third of his investment, If the profit at
the end of the year was shared between A
and B in the ratio 21 : 20, then after what
time did B withdraw a part of his
investment ? '

(A) 6 months (B) 7 months

(€) 8 months (D) 9 months
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44,

O IR GRIRIRIR 61'Q KSR 600I] O8I 9
100 &.0 @i &4, 6669 1200 &.5 aIel RG5!
QIel 616 1 D91 GF| AFR RIGS | 666Q AEIRIDIRE!

WQIYE UAITR 6961 6066 ?
(A) 100 @.8 (B) 200 @.F
(C) 300 &.8 (D) 400 @.A

& cosecd —sinB=1, sech —cos@=m 24,
6669 2m? (2 +m? + 3) @ Flie 6R6E ?

(A) 1 (B) -1

(C) o (D) 2

6R6RIT OF o O8I oM 7 el SRUeY ?

(A) 124

(C) 120

(B) 128

(D) 126

A B B 14 : 15 2RUI66 Fipdle Giole 96 9@
RIS ZINA GERI A Q ARE Qdalql

| PSG0E6 291 g6R B e40TIR 210610 §F aFe

969 &' FRNAS 9@ GEIBI6 GIF 6rRI| oF
661867 94 FIFA 6FIF AING.21 : 20 BRAGE
A G213, 6669 U AR RS AW B
B 61'Q AR2IA6 4@ 26 QI 600 2Rl ?

(A) "6 €1 (B) 761G

(C) 86 (D) 9¢IQ
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45,

46.

47,

,1+1+1_ 1

What is the sum of

7

ot 7
99x100

1x2 2x3 3x4

(A) Less than%
(B) Equal to %
(C) More than -1-%
(D) Equalto 1;0

If ‘m’ times the mt" term of an A.P. is equal
to the 'n’ times of the n'! term of it, then
what is the (m +n)™ term of the A.P. ?

(A) 0 (B) 1

(C) 2 (D) 3

The speed of a boat in still water is
8 km/hour. It takes 5 hours to cover
15 km upstream and 22 km downstream,
then what is the speed of the stream in
km per hour ?

(A) 3 (B) 5 (C) 4 (D) 7

5TS5-11-2018-19

45,

46.

47,

1 + 1 + 1 +o 1 ?
1x2 2x3 3x4 99100
IR ERES ?

99
(A) Too OlQL9IR

99
(B) 7Tgp Q@R -

100
© 55 098

100
(D) ) Qe Il

26 9@ A.P. @ m 66 908 m g6l @A n 0F1
o6 n Q8 9B IR g9, 6669 @@ AP. 9
m +n &F 96F 6Q66 ?

(A) 0 ® 1

() 2 (D) 3

9@ 6RIRIR da AI6i6a 99196 696 8 &.A1
6QI6E T8 6960 gEqREa 15 @.F 8 6906
ZRARER 22 @.7 DRl 6F16' 5 A8l iR B,
6660 69160 AQIYE 6901 6R6e &.F. ?

(A) 3

® 5 (€ 4 (O 7
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. 48,

49.

50.

51.

A number is to be chosen at random from

among the numbers -3, -2, —1,0,1,2,3
What is the probability for the modulus

of the number chosen to be less than 2 ?

~1|

5 3
A) = ()

(D)

= |

2
© 3

_ What is the difference between the mode

and the median of the data contained in
the table below ?

x| 5|6 |(@)8]9]10
fl812{18|13] 7] 3

(A3 ® 2 (© 1 (D 0

Taxi fare in a city is as follows: for the first
kilometre the fare is ¥ 8.00 and for the
subsequent distance it is ¥ 5.00 per km.
Taking the total fare for covering a distance
of ‘x’ kmas “y" which of the following is
the equation that connects x" and 'y’ ?

(A) Sx+y+3=0 (B) 5x—y+3=0

(C) 5x+y—3=0 (D) 5x—1y—3=0

The areas of a square and a rectangle are
equal. If the side of the square is 12 cm
and the difference between the length and
breadth of rectangle is 7 cm, then what is
the perimeter of the rectangle ?

(A) 25cm (B) 50 cm
(C) 75 cm (D) 112 cm
D-16

48.

49.

50.

51.

9@ -3, -2, —1,0,1, 2, 3 LEH FIRG Fixlig) .
2R 6915 oM QBRI 699 | 98 ARG
QEHIE DAFFIR 2 0l6) ¢ 69919 TGS
6068 ? : .

~1|

®)

~1|w

(A)

(C)

(D)

STl

7] AREN TEES SEMPHR S5ISa 6 Al

RIS IRl 666@ ?

1

x| 5678|910

(A) 5x+y+3=0 (B

Q) 75 64

fl8]12]18[13[ 7|3

A3 B 2 (© 1 (@D 0

98 AWAEH Y V6! 6208 Qo 6.4 gf

% 8.00 8 Ceeel @86l Qel &.8. 98 T5.00 |
26 26 @029 9ol ¥’ @.A. AR 01 a8l
T 'y 94, 6660 AFg 6aas ‘v’ 8 'y adRe
AFIRaE] 626 ?

5x —y +3=0

{C). 5x+y-3=0 (D) 5x-y-3=0

I P0I686 19° IR ZIREEHIEE 6HRTR SFIR |
QUEFRR 6615 QIER 694 12 6.8 e

UAGEBOR 654 B 9gh Ay 7 62L.E | 6660

PIEE 686 FRCIFI 6666 7
(A) 25698 (B) 50698
(D) 112644
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52.

53.

55.

If  (5x2+14x+2)2— (4x2-5x+7)? is
divided by x?+x+1, then the quotient is

‘q" and the remainder is ‘r’, what are ‘q
and 'r ? '

(A) q=22+9x—5, r=0

(BY q=9(r2+19x—'5]-, =0

Q) q=2249x-5,1=1

(D) q=9(:2+19x-5), r=1

Two nonintersecting circles have 15 cm
and 9 cm as their radii. If their centres are
30 ¢m apart, what is the length of their
transverse common tangent ?

(A) 12cm (B)

(D)

15 cm

(C) 18 cm 21 cm

sind—2sin0

What is the value of 3 7
2cos” B—cosh

(A) cotb (B) tanf

(C) sech (D) cosect

If 5¥-3x 3 21-8=225, then what is the
value of x 7

(A) 3 B 2 < S (D) 4.

STS-11-2018-19

52.

53.

55.

(©)

98¢ (5x2+14x+2)2—(4x2-5x+7)2 @
2+x+1 Q9 QP QQUCER, AT q° 6
QUSEHA v 24, 6669 °q" B'r 6Q66 ?

(A) q=x249x-5,r=0

(B) q=9%(x2+19x-5), r=0

q=12+91—5, r=1

(D) q=9(x2+19x~5), r=1

L]

QOF B6KEG1 QAR HAT 6268 15 69.0 G
96011 6TFIRIR SRR FRISA Q061 30 62
66R, 63 GR Q5 O6 TEE 6010 GG TRIGE!
e 6N 6066 ?

(A) 12 6Q.f. (B) 15 64.8.
(C) 18 6a.f. (D) 216Q.4.
E‘-’f‘i“aﬂmese?
2cos”0—cos

(A) cotb (B) tanf
(C) sech (D) cosech

Q8 5*~3x3 2682225 g4, 666Q x A FIR
6@EE ?
A) 3 (B 2

< 5 (D) 4.
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56.

57.

58.

Ranjan purchased 120 reams of paper at
% 80.00 per ream. He spent ¥ 280.00 on

transportation, paid octroi-tax at the rate |

of 40 paise per ream and spent ¥ 72.00 as
the labour charge. If he want to get a profit
of 8%, at what price should he sell the
paper per ream ?

(A) ¥ 86.00 (B)  87.48

(C) T 88.62 % 90.00

(D)

PQ is a chord of length 8 cm of a circle of
radius 5 cm. The tangents at P and Q
intersect at a point T. What is the length
of TP ?

(D)

Rakesh has ¥ ‘x" more than Mohan and
they together have a total of T “y’ . Which
of the following represents the number of
rupees that Rakesh has ?

y+x x
2

(A) (B) y-3

© %—x D) 2y-x

56.

57.

58.

QR GiF & T 80.00 @RIE%E 120 Gif| /O
S8Rl 515 961 Q9060 T 280.00 ¢F ARl 96"
PR 0ad 910ae 5F| 96 40 ORI TARER 6RI
8 GAK T 72.00 ARA 6eAIl GF 96 666
QIFIEE ALY RIGKR BE @M 6 8% A IR ?

(A) T 86.00 (B) ¥ 87.48

(C) T 88.62 T 90,00

(D)

5628 AT 598 9@ 989 PQ GUa 6T
8 6.8 P 9e° Q Ol6 &7l Il 9K e T
0I691 686 @9 | TP 6 6T 6@66 ?

(A) %ea.ﬁ. (B) %sa.ﬁ
© S D % 697

QIS@E! TISIEE 6AIRA 06 “x’ OF1 2RI 2R 9°
69QRASIRA TR A8 'y | FERYS FRIG6@ES
QIeasIa TRig g ?

+ .
L= ® v

(D) 2y-x

© 3

STS-11-2018-19



59.

60.

61.

62.

How m..?mj,r spherical bullets of 2 cm
diameter can be made out of a' metallic
cube, each edge measuring 22 cm by

melting and recasting ? |:Take T, asz—:ﬂ

(A) 5324 (B) 5262

(C) 2622 (D) 2541

What is the ascending order of the surds
%, 95,97

A) ¥, 93,32 (® U, %2, 93

© 32,835,% (D) 3, %, 3%

Who was known as “CZar, the

. Liberator” 7 =

(A) CZar Alexander I
(B) CZar Nicholas 1
(C) CZar Alexander II

(D) CZar Alexander III

The head quarter of the League of Nations
was situated at :

(A) Geneva (B) Rome

(C) Versailles (D) New York

STS-11-2018-19

59,

60.

61.

62.

ER

(A)

22 6971, @1 2110 B8 e MeQ IFTNG EORIR
6226 2 6.1 QHIA TFIE 6REEIG 6TIRG ARER

G G2IG AR Tt ?
| [‘I‘I‘ @IG -2?3 ﬁa}

(A) 5324 (B) 5262
(C) 2622 (D) 2541

2, 93, ?fz BIOGEAS EHFIRTS OF aF

fRGk ?
(A) Us,93,32 (B) a,32,%3
© ¥2,93.%a (D) §3,%, 3

@4 "G BRI QTR URee ?

AR ARG QF
(B) - @IGr RERIMIY A

(©)
(D)

@l6| BIERRGIEIE 9 &)

@6}, BlemawiSic <

"fig| B, 6AIRY” O FlEMRS 6REI0I60 BeYe
&fml- -
(A) 6R606 (B) 6%UF
(C) odam (D) Ba
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b3.

64.

65.

66.

In which direction the world: system led
after the disintegrations of Russia ?

(A) Towards Supremacy of U.S.A,
(B) Towards Communism
(C) Towards Capitalism

(D) Towards Clobalization

The prdvince of Biha_l'.an;;l Dﬂisha was
formed in the year :
(A) 1912 AD (B) 1936 AD
{C} 1942 AD (D}I 1947 AD

Who referead first Mahatma Gandhi as the
“Father of the Nation” ?

(A} Pandit Nehru
(B) Netaji Subash
(C) C. Rajagopal chari

(D} Sardar Patel

Who among the following was the pioneer
of the “Indian” nuclear energy program ?

{A) Dr. Vikram Sarabhai
(B)  Dr. Santi Swarup Bhatnagar
(C) Dr. Homi Bhabha

(D) Dr. APJ. Abdul Kalam

D-20

63.

64.

65.

| 66.

q 826 FRaand 968 gae GQ@“EI@GL :
Feiad ?

(A)  EIEFRRIG YRIMY TS
(B) <iFuela @96a:

(C) YBIeTER

(D) 6991408 8568

: i

"BEIe 859 QIeY” 666 DS 6LIREmI ?

(A) 1912 ¢13el (B) 1936 ¢4g|

(C) 1942 Qe (D) 1947 FER|

"qlow Sl QIRER FRIA! S G4 YA
glgde Q@]?Sﬁ'l ? R s

(A) ©866A6L9
(B) 6AOIRI LGS
(C) ©@eel aIF s9ITR SIal

(D}. adie s

G6F)® ARG &9 "RINeIa B8NS 69
Fdiara” aseYs) Zsm ?

(A)  ©.FgF IR
(B) . 415 AL ApRIGE
(C) ©.6alf Qe

(D) @.9.8.60. YR FIRIF|
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67.

68.

69,

(D)

The immediate cause of the 2" world war
WaSs

(A) Rise of Dictatorship
(B) Hitler’s assault upon Poland

(C) Hitlers's good bye to the league of
nations

(D) Treaty of Versailles

Who headed the first congress ministry in
Odisha in 1937 ?

(A) Harekrushna Mahatab
(B) Krushna Chandra Gajapati
(C) Binayak Acharya

Biswanath Das

Which is the most significant body of the
UNO?

(A) General Assembly
(B) Security Council
(C) UNESCO

(D) International Court of Justice

5TS-11-2018-19

67. G010 ARG eBIRe RIRE /' BRI -

68.

69,

(A) 4R8EQI0N QLR

(B) L6099 STRIS AgAe

(C) ﬁqaqaﬂaq@ﬁmmw Einatdli=lal

(D). adion I

1937 65 BFEIEQ QIR °69Q FRIFNIERT 6RER
a6a085R ?

(A) 960Q9 FEGIR
(B) QYRGS
(C) GRBe aleiK

(D) @gale i

ARe QIEraa 990Iq garad B sads ?

(A) dRIeE gal
(B) Rodel 9Ee
(C) SEResl

(D) EBFER FoIRIRS



70.

72.

73.

Who led the Non cooperation movement
in Odisha ?
(A)

(B) Maharaja
Gajapati

Madhu Sudan Das

Krushna Chandra

(©)
(D)

Gopabandhu Das
Hare krushna Mahatab

When did Non-Aligned moveﬁlent
begin ? ' )

(A) After first world war
(B) After second world war
(C) During cold war

(D} After Balkan war

Tripartite or Triple Alliance was concluded

among which countries ?
(A)
(B) Germany, Austria, Japan
(©)
(D)

Gerrnany, Italy, France

Germany, Austria, Italy

Italy, England, France

For the cultivation of which of the
following crops are the conditions of high
temperature, plenty of sunshine, small
amount of rainfall and irrigation facility
most favourable ?

(A) Coffee
(©)

(B) Cotton

Jute (D) Tea

D-22

70.

72,

73.

BFlI6e TAR6I6 ZIERIRAR 6REE @4
6Raden ? .

(A) FREeR
(B) FRIGIR GICQ ORTES

(C) caloeq@a .
(D) 960QE FIECIQ

6611 HRETT LSRRG 6660 BIA 621RBRI ?

(4) GeNagYeB6a
(B) Go1aGgge osn
(C) Mew Qe Frlsa
(D) <RRIA gO 968

dafa 49 6@a 5eegeq 6P AN
6LIRER ?

(A) @EIR, QIR tz_ﬂﬁg'
(B) @cim, ofel, @l
(C) @fer, a8, mra‘tm |
(D) &R B'RY, qIq

26 QIOAIE), ges Qa0 T aaFIER
Q806 B AREIER IRl ASFID 6ad ' TAREE

I8l QI QQ015 BRAR 7
(A) @ - (B) «d
(C) 6% . (D) @
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74.

75.

Which of the following iron and steel
plants is different from the other three in
terms of the time period of its
establishment ?

(A) Bhilai
(B) Bokaro
(C) Rourkela

(D) Vishakhapatnam

Consider the following statements about
the Ladakh plateau located in the North
Western part of India and identify the
correct answer from below :

(a) Itisacold desert

(b) The Indus river flows through itina
deep gorge

(c) Fresh water lakes are prominently
noticed in the area

(A) Both the statements (a) and (b) are
correct

(B) Both the statements (b) and (c) are
correct

(C) Both the statements (a) and (c) are
correct

(D) All the three statements are correct

STS-11-2018-19

74.

75.

goURIR Q8 AEAIS 606 eale B QI
RIGIRIG TRy FERIT0IG B9 ?

(A) GRIR

(B) 6QIRI6R
(C) <eRsaRl
o ]

(D)

Rleea eea-adn dden Ao med ARes
ARG PERYE BYEQ BRLIR QS G121 FRIG,
Of, aesk Qg ?

(a) <2I4@ §16R FRRA

(b) <8I FREOR A ARG 99 TIRIG G869
JRIEe ceaR

(c) (€ PERER FIIQ PRA REFIE F6EIT QISR
604G

(A) Q8% (a) 8 (b) 68 O
(B) Q8% (b) 8 (c) as O]
(C) 699 (a) 8 (c) 6x OR,

(D) <FIEEeRIHIR 6w Of



76. Which among the following railways does

pass through quite undulating terrain ? |
(A) The Konkan Railways

(B) The North-East Frontier Railways
Q) | The South-East Frontier Railways -

(D) The West Central Railways

77. Which of the following groups O:f treds

78.

found in India contain boreal plants
only ?

(A) Birch; Rosewood; Pine; Oak
(B) Juniper; Pine; Birch; Silver Fir
(C) Sheesham; Teak; Sal; Rosewood

(D) Teak; Pine; Rosewood; Birch

If the location of the antipode of a place is
20°5; 94°W, what is the location of the
place itself ?

(A) 20°N; 86°E

(B)  20°N; 94°E

(C) 20°S; 94°E

(D) 70°S; 86°E

D-24

76.

77.

78.

PeFs FrIG) 6ad coRdel 66T RISE QE6
QFGIT0 600 JIRBIE ? '

(A) @96 6amae
(B) @RG-S AFIS 6aRTel
(©) 'eﬁmﬁ 68514 69R0e]

(D) a@%ﬁ;—mﬂ 69mael

SIe6a sadlcedel ferls 98 IFR HQJG}_
6REIT60 SRR CRINAR a6 ORE ?

(A) OF: 651666, TGR; 60

(B) |FO9; dRR; 9I6; IRNGTE,

(C) &); SIGRIR: 6IR; 6ARRE,

(D) SIGRIR; UIRR; SAIRGE; QIF

6&l60 gra gbde Sga 2eds 20° @841 94°
T8 6LIRZ6R BB gao 2996 @'s1689 7
(A) 20° G99 86° Q&

(B) 20° GR%; 94° Q&

(C) 20° @86 94° Y&

(D) 70° @84 86° QF
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79.

80.

B1.

82.

Which of the following pairs of places and
the energy produced therein is incorrectly
matched ?

(A) Madhapur - Solar energy -
(B) Gulf of Kutch - Tidal energy
(C) Manikaran - Wind energy
(D) Puga- Geothermal energy

In which of the following areas of India is
radial pattern of drainage noticed ?

(A)
(B) The Aravalli Mountains
(C)
(D)

The Amarkantak Plateau

The Malwa Plateau

'The Satpura Hills

Which among the following islands in
India-is different from the other three in

terms of its location ?
(A) Baratang (B) Katchal

(C) Kavaratti (D) Rutland

With which of the following rivers is the

.Tungabhadra dam project linked ?

(A) The Godavari

~ (B)' The Kaveri

(C) The Krishna

(D) The Narmada

8TS-11-2018-19

79.

80.

81.

82,

QP 8 690169 AT 62GERI D0 ﬁsaia

6ATER Fule) 6761 O NIER ANTE Q64 7

(A) ANGR - 6910 66

'. (B) @@ QUeR - S §in

€ rdlad- oo a8

(D) qcai G964R! - 6 - IR §1S

AASG F6FIS 6R6 FERES BIERE GRMIG
RIS SRIRAE §97?

(A) RGeS AIRGA
(B) TR SREFIRI
(C) RS FAIRSE

(D) ORI SSeEEsT

2ege 986RI6lE AINEE F6E)S 606 QIaR
UREERITOIG B ?

(A) QRS (B) QUEIR

(C) @@sl! (D) QRIS

Fefo 66 PQ1 AL SENE AERR 6LIRE!
e ? -

(A) 6eIIRq
(B) @I6Q
© qu
(D) e
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83.  Select the group of Bird Sanctuaries only | 83-
(A) Chilika, Bandipur, Periyar,
thmﬂ'mng‘l
(B) Chilika, Kalimer, Kumarakom,
Vedanthangal

(C) Chilika, Kalimer, Kumarakom,
Wainad

(D) Chilika, Kalimer, Periyar, Wainad

84. Which of the following places was | 84.
considered as the “Mica Capital of India”
in the past though its mica production has

declined now ?
(A) Bhilwara (B) Giridih
(C) Kodarma (D) Nellore

85. Under which Article of the Constitution, B85,

The Parliament can make law on the
subjects of state list ?

(A) Article 249 (B) Article 250

(C) Article 356 (D) Article 252

86. From which of the following constitutions | 86.

the concept of Directive Principles of state
policy has been borrowed ?

(A) Ireland (B) America

(C) Switzerland (D) China

D - 26

MEFID FRIG6RAR Ol BORUNEN g
(A) ORI QIR 6IRAIR, 6w
(B) ORI, QRAG, GRITGAIR, 6eTqes
(©) ORal, SRR, FAINERIF, {abﬁﬁm

(D) SRAQ. ARAG, 6TRAIG, GERIE

eeinie 2k OU0R fRial 26 F6F)wE
QR 9FG “QIea BQ QIR 2l
26006 6Radm ?

(A) SREE! (B) oG |
(C) eIeFl (D) EEERIG,

ARIRG 64 MG PRI CrAR QIRY Gima!
S8R IADEE 2SR 9EIAR Aol ABER ?

(A) ikl 249 (B) aliwi 250

(C) 2%l 356 (D) Al 252

AARTe 6Rd QARG GIT FETEFAR
ASNARR ?

(A) BRI (B) @RS
€) RIS (D) &%

STS-11



_7. ich A:::cl:e of Indian constitutio
&5 Right to Education ? )
A) Arti.r:l.e 19 (B)  Article 22
Article 21(A) (D) Article 21
88.[Who can amend the [ndian

E_leﬁtihltinn ?
'{(A) President

b {+]] /Wi:n’at happens when there is disagreement
between the two chambers of the Indian
Parliament regarding constitutional
Amendments Bill 7

A) The bill may be returned to Lok
Sabha

The bill may be sent to the President
Death of the Bill

(B)
(©)
(D)

None of the above

B‘E_/‘Whu has the power to elect the President
| of India ?
(A) Elected members of Parliament
(B) ,

elected members of Parliament
and elected members of Legislative
Assemblies.
(C) Elected members of Legislative
Assemblies

(D) All members of Parliament and
members of Legislative Assemblies

87.

B8.

89.

11-2018-19

90.

fafan GO aeea QAMIRS EadIe
Qe ?

(A) 219
(C) &G 21(A)

Bl 22
aligh 21

(B)
(D)

SINE QRMIEG B9 TERRIE @EISES 7

QIR

grIRAal

QR M

1R F1JG) 6RET 6T

(A)
(B)

(<)
(D)

'8l 4, ER6EEXER Qflaife CeaRe SO
GHAEH MINEIR 998 AUen A allay

Ragliea ?

(A} GRIRENIE O STERENES

QRS Feee DOIKIRTIET
0I5 AT
A9 Flale) GRET R6E

(B}
-
(D}

Gloee AIROER FAISR SR DIE QA AAG!
&R ?
(A)
(B)

TA0E FHITE 6N e

PUGT TR AFIFE TN B RIS
Ralee QEy

(€) NS RUFAIR REIFTE AR

(D) IR QAT AR G FURIG e QA

D-27



921.

92.

93.

Religious Minorities in India have been
given special protection under the
constitution by the :

(A) Fundamental Rights

(B) Directives Principle of state policy
(C) Fundamental Duties

(D) None of the above

Which of the following is not a function of
the Prime minister ?

(A) To preside over cabinet meeting
(B) To appoint ministers

(C) Toactasalink between the President

and the Council of Ministers

(D) To actas the leader of the Lok Sabha

Banks charge a higher interest rate on loan
than what they offer on

(A) Credits (B)

Buyers

(C) Deposits (D) Sellers

D-28

921.

92.

93.

QRN NS M AY TTNRR IR AL
P FRIQ QNI TOR 621088 :

(A) eelde adai@
(B) Qg ﬁm‘ﬁl FAINROR ST
(€) &flRa qaley adizea

(D) <EQ PRI 6060 Q6L

606R RURARRA RIh R6E ?

(A) QTSRS CROREE TRISE! oy
(B) fRFINg FLD edel

QRS 6 6RY-FIA TNV FRIEA TR
Bl GSR

©

(D) RIS EAS! AGER PR PRI

e 608 06 Qe Be
QIR A4S SRS |

(A) e (B) Sge
©) wal (D) Segel
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94,

95.

96.

97.

Japan invested most part of its resources
in the development of :

(A)
(B)
©
(D)

Financial resource
Human resource
Physical resource

MNational resource

Where is National Consumer Disputes
Redressal Commission is located ?

(B)
(D) Mumbai

(A) Lucknow New Delhi

(C) Chennai

We need knowledge and enterprise to be
able to put together land, labour, physical -

capital and produce an output this is
called :

(A)
(B)
(©
(D)

Fixe factor
Variable factor
Human capital

Financial capital

To grow multiple cmps.in the same land
is called Multiple Cropping. It is possible
with :

(A)

(B)
(€

Application of HYV seeds.
Application of chemical fertilizers.

Availability of well developed
irrigation system.

(D) Increase in area of production.

STS-11-2018-19

94,

95.

96.

97.

FITIFER 2R IR QIR TR Fres Feed
@eIdal ?

(A) e ane
(B)
(C) 6RIae aae
(D) /e am

AR IR

FIEIR QAEAISI TR0 GORR LI6UE 604610160
2R ?
(A) Red

(C) 6o

(B) RAGH
(D) AR

I6A §F, 97, 65160 Qiq 100 @8 Gy egn
ORI B 609 Tl MR ¢ 6TORT 2SN

/6, 901G /'€ GRIAI ?

(A)
(B)
()
(D)

i =3fa(]
cResime 9
AR 9&
A gd

9@ P08 g @G TN AR ARG
QRRR Y BAR QRIAI | 991 IS Q4 :

(A) 29Q2ARSA S2RA g5
(B) QVAAQ IGR AU

(C) QQe FAIRG GREITR g aage

(D) N GYSHRN AR 8



98.

99,

100.

Which among the following is a
non-renewable resource ¢

(A) Ground water Forest

(B)

(C) Air (D) Minerals

Investment made by MNCs is called :

(A) Internal investment
(B)

©

Foreign trade
Foreign investment
(D) None of these

Disguised unemployment means :

(A) -Worker are unemployed in some
seasons.

(B) Worker's capacity is underutilized.

(C) Some worker marginal productivity

is zero.

Workers are willing to work but not

©)
~ getting jobs.
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